Intro to Trig Review Sheet
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‘1. Using the identity sin2 @ + cos? 6 = 1, 6. In the accompanying diagram of circle O,
£\ find the value of tan 8, to the nearest ' COA is a diameter, O is the origin,
hundredth, if sin 8 is § and @ is in’ OA =1, and mZBOA = 30. What are the
~ Quadrant II. coordinates of B?
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3. Using the identity sin® @ + cos® 8 = 1, 2027 ¢\ 0 4
fnd the value of tan 6, to the nearest ' \’/
hundredsh, if cos 6 is —0.7 and 6 is in C. (% Z2) ‘
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3. If the terminal si passes
through the point (—4,3), what is the

9 .
()  value of cos 2 7 For all values of x for which the

expressions are defined, secx — tanx is
equivalent to

A1 | B. cosx-—cotx
. @ 1 —sinx D, Sosx= sin® x
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If cos6 = —%fﬁnd tan 6 is negative, the
value of sin @ is )/
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S.  Express 2F radians in degrees then state _ :
two cotermmal angles (a positive and a C. % a lﬁj
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9.  What is the radian measure of an angle

whose measure is —420°?
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10. An angle, 8, is in standard position
and its terminal side passes through the
point (2,—1). Find the exact value of

sin 8. Rationalize all denominators.
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11. If sinx = —g and sinxcosx > 0, in which

quadrant does angle x lie?
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12. The accompanying diagram shows unit
circle O, with radius OB = 1. _
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Which line segment has a length
equivalent to cos 67?
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13. The expression —-2—:(%5 is equivalent to .
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14. A circle centered at the origin has a
radius of 10 units. The terminal side
‘ﬂ)f an angle, 8, intercepts the circle in
M f’ Quadrant II at point C. The y-coordinate
of point C is 8. What is the value of
cos 87
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15. If sin@ < 0 and cotf >0, in which
quadrant does the terminal side of angle

m 6 lie?
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16. The expression —————— is equivalent
anx
to
Al B. sin’x
C. cosx @ cos? x
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17. Ifsin@=% i_and g is in Quadrant I, what
is the value of (tan B){cos )7
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If sin%(32°) + cos?(M) = 1, then M equals
32° B. 58° C. 68° D. 72°

19. In the accompanying diagram of AABC,
which expression can be used to '
determine mZA?

20. If sinx = —% and tanx < 0, in which
quadrant does Zx terminate? '

21. - In standard position, an angle of 77"
radians has the same terminal side as an

angle of Cb"'(’)fm/i aal
60° B.. 120° -
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C. 240° D. —420° ,Z, (0
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22 For all values of x for which the
expression is defined, secx-cscx-cosx
is equivalent to
A, tanx ' B. sinx
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23. If @ is an angle in standard position
and its terminal side passes through

point (—%, %g_) on the unit circle, then a 5
possible value of 6 is [
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24, TIn right triangle ABC, if m£C =90 and
sinA = %, cos B is equal to
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. tan@ .
25. The expression is equivalent to
sec @

4 sin @
‘ infd B.

D. cos@

S B . . . .
w%é. The terminal side of 0, an angle in
standard position, intersects the unit

circle at P (—% __?) What is the
value of sec 87
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27. Bxpress 105° in radian measure.
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28. In the accompanying diagram of a unit
circle, the ordered pair (x,y) represents
the point where the terminal side of 8

intersects the unit circle. If m£8 = 120,
what is the value of x in simplest form?
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29. An angle, P, drawn in standard position,
terminates in Quadrant II if

|
cosP < 0 and cscP<0 :

// pAENN
sinP >0 and cotP >0
D.

Vsin Yten
cscP >0 and cotP <0

tanP < 0 and secP >0
A-
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30. In the accompanying diagram of a unit
circle, the ordered pair (x,y) represents
the locus of points forming the circle.
"Which ordered pair is equwalent to

x, 3)?

A. sin 6, cos8)

Y,
B. (cot 8, tan ) / 'rs

C. {(tan®, cotB) -1

Vi )
(cos 8, sin0) -1

31. Using the unit circle below, explain why
cse B =1,
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